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Mr. Schlansky Geometry

Exterior Angles (Segments)

1. In the diagram, tangent pC and secant CB.4are drawn to circle O from external point
C.If DC =4and BC =2, find 4.
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2. In the diagram, AD is tangent to circle O at D, and CBAis a secant. If 4D = gand
AC =9, what is AB?
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3. In the diagram, AP is a tangent and PBCis a secant to circle O. If PC =12 and
BC =9, what is 4P ?
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4. In the diagram, AP is a tangent and PBCis a secant to circle O. If PB =2 and
BC =30, what is 4P ?
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5. In the diagram, ABis tangent to circle O at B, and ACDis a secant. If 4B =9 and
AD =27, find 4C.
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6. In the diagram below of circle O, secant AB intersects circle O at D, secant AOC' intersects
circle OatE, AR =4, AB=12, and DB =6, o n B
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What is the length of OC? ‘ 7
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7. In the diagram below of circle O, P4 is tangent to circle O at 4, and PBC' is a secant with
points B and C on the circle.

If PA = 8 and PB =4, what is the length of BC'?
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&d{} ﬁiXYL 8. In the diagram below, PS is a tangent to circle O at point S, PR is a secant, PS = x,
2 PO =3, and PR =x + 18. What is the length of 25 ? ,
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